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QUESTION 1

Which DB2 product is NOT suitable for very large data warehouse applications? 

A. DB2 for i 

B. DB2 for AIX 

C. DB2 for z/OS 

D. DB2 for Linux 

Correct Answer: A 

 

 

QUESTION 2

Application APP_A is performing updates to table TAB1 using the read stability (RS) isolation level. Which isolation level
will allow application APP_B to retrieve all rows from table TAB1 immediately, rather than have to wait until application
APP_A has finished making updates? 

A. Read Stability (RS) 

B. Cursor Stability (CS) 

C. Repeatable Read (RR) 

D. Uncommitted Read (UR) 

Correct Answer: D 

 

 

QUESTION 3

What is the act of releasing a large number of row-level locks that an application holds on a single table to acquire a
table-level lock known as? 

A. Lock exchange 

B. Lock promotion 

C. Lock escalation 

D. Lock conversion 

Correct Answer: C 
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QUESTION 4

If no isolation level is specified, what is the default isolation level used? 

A. Cursor Stability (CS) 

B. Repeatable Read (RR) 

C. Read Stability (RS) with Currently Committed semantics 

D. Cursor Stability (CS) with Currently Committed semantics 

Correct Answer: A 

 

QUESTION 5

Which two DB2 objects can a view be derived from? (Choose two.) 

A. View 

B. Index 

C. Table 

D. Trigger 

E. Procedure 

Correct Answer: AC 
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